
1

Rev032421

ASG Series © 2021 PS Industries® Incorporated. All Rights Reserved.

I. EdgeHalt® Adjustable Safety Gate Replacement Parts List
A. Review inventory to ensure all parts are present for assembly/installation. Refer to parts list below.
B. The Replacement Parts Diagram is located on Page 2. 

Supplemental Replacement Parts List

TO ORDER PARTS CONTACT PS SAFETY ACCESS AT
877.446.1519  or 4psinfo@psindustries.com

Gate Finish Type
ITEM # DESCRIPTION QTY PCY ZINC

1 ASG;HINGE PLATE ASM 1 514308 514635

1.1 ASG;HINGE PLATE 1 514309 514636

1.2 ASG;HINGE BRACKET 2 514312 514637

1.3 ASG;TORSION SPRING, 17-7 SS 2 514199 514199

1.4 ASG;SPRING SPACER 2 514442 514442

1.5 BEARING;G300 FLANGE,.3125ID 4 509753 509753

1.6 BOLT;HEX5/16”18X4 2 500434 500434

1.7 NUT;NYLOCK5/16”18 2 501126 501126

2 ASG;LARGE HOOP 1 514316 514638

3 LSG;2.25” RND TUBE CAP 2 514331 514331

4 AS;SMALL HOOP 1 514322 514639

5 ASG;2” RND TUBE CAP 10-14, GA 2 515020 515020

6 ASG;STRIKE 1 514327 514640

7 ASG;BUMPER .25X1.75X8.75 PSA 1 514439 514439

8 BOLT;CARRIAGE 5/16”X3/4” 5 514333 514333

9 WASHER;FLAT 5/16” 5 501949 501949

10 NUT;NYLOCK 5/16”18 5 501126 501126

11 ASG;HARDWARE BAG 1 514503 514503

11.1 ASG;TUBE CLAMP RING ANO BLK 2 514455 514455

11.2 BOLT;HEX5/16”18X3/4 2 500429 500429

11.3 NUT;JAM 5/16”18 ZN 2 501108 501108

11.4 BOLT;U 5/16”18X1 1/2 PIPE 2 500461 500461

11.5 WASHER;FLAT 5/16”ZN 4 501949 501949

11.6 NUT;NYLOCK 5/16”18 4 501126 501126

11.7 LSG;CAP PLASTIC FOR 5/16 BOLT 4 500932 500932

11.8 SCREW;HEXDRILL14X2 2 506020 506020

11.9 LSG;STRIKE SUPPORT BLOCK PC 1 514493 514493

12 DECAL;ASG FALL HAZARD 1 514528 514528

Finish Options
PCY Powder Coat Safety Yellow 

ZINC Zinc Plated



2

Rev032421

ASG Series© 2021 PS Industries® Incorporated. All Rights Reserved.

1.2

1.5

1.6

1.4

1.3

4

1.7

3

5

7

11.1

6

1

8

2

9
10

11.2

11.3
8

9 10

1211.4
11.5

11.6

11.7

11.8
11.9

Supplemental Replacement Parts Diagram

II. EdgeHalt® Adjustable Safety Gate Replacement Parts Diagram
A. Review inventory to ensure all parts are present for assembly/installation. Refer to diagram below.
B. The Replacement Parts List is located on Page 1. 

TO ORDER PARTS CONTACT PS SAFETY ACCESS AT
877.446.1519  or 4psinfo@psindustries.com

Finish Options
PCY Powder Coat Safety Yellow 

ZINC Zinc Plated


